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QUESTION 1 
A table space is successfully recovered by using RECOVER TABLESPACE db.ts 
TOLASTFULLCOPY. This table space is referenced by an index. 
Which statement is true? 
 

A. The index has now a status of REFP. 

B. The index has now a status of RECP. 

C. The index has now a status of CHKP. 

D. The index has now a status of RBDP. 

 
Answer: A 
 
 
QUESTION 2 
What is the maximum partition size for a table space created with NUMPARTS 128, a page size 
of 8K, and a default DSSIZE of 4G? 
 

A. 1G 

B. 2G 

C. 4G 

D. 8G 

 
Answer: D 
 
 
QUESTION 3 
Which statement regarding triggers is true? 
 

A. A trigger can use global variables and change their contents. 

B. A trigger can use global variables but cannot change their contents. 

C. A trigger cannot use global variables but can change their contents. 

D. A trigger cannot use global variables and cannot change their contents. 

 
Answer: B 
 
 
QUESTION 4 
What is a general recommendation for when to rebind? 
 

A. After a backup is taken. 

B. After a subsystem restart. 

C. Before maintenance is applied. 

D. After a major change in data volume. 

 
Answer: B 
 
 
QUESTION 5 
A statement-level access path hint can be applied to which type of SQL statement? 
 

A. Static SQL statements only. 

B. Dynamic SQL statements only. 

C. Both static and dynamic SQL statements. 
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D. Statements included in a CREATE PROCEDURE statement only. 

 
Answer: B 
 
 
QUESTION 6 
What does the UNLOAD utility allow you to unload? 
 

A. Index entries from an index image copy. 

B. Rows from an image copy after the table has been dropped. 

C. Rows from an image copy after columns have been dropped. 

D. Rows from a sequential image copy created by the COPYTOCOPY utility. 

 
Answer: A 
 
 
QUESTION 7 
Which statement about an array data type is true? 
 

A. User-defined data types are allowed in an array. 

B. An array is a built-in data type and can only be numeric. 

C. Arrays can be used as direct input to a select-statement predicate. 

D. Associative arrays can only use INTEGER and VARCHAR data types as indexes. 

 
Answer: A 
 
 
QUESTION 8 
The degree of parallelism can vary for the REBUILD INDEX utility. What action should be taken 
to limit the use of real memory using the REBUILD INDEX utility? 
 

A. Increase the value of the PARALLEL option. 

B. Decrease the value of the PARALLEL option. 

C. Increase the value in the CURRENT DEGREE special register. 

D. Decrease the value in the CURRENT DEGREE special register. 

 
Answer: C 
 
 
QUESTION 9 
Which is NOT a valid value for the KEYWORDS column in the DSN_PROFILES_ATTRIBUTES 
table? 
 

A. MONITOR THREAD 

B. MONITOR IDLE THREADS 

C. MONITOR CONNECTIONS 

D. MONITOR ACTIVE THREADS 

 
Answer: B 
 
 
QUESTION 10 
What keyword establishes the maximum partition size of a partition-by-growth universal table 
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space? 
 

A. PART 

B. DSSIZE 

C. SEGSIZE 

D. MAXPARTITIONS 

 
Answer: D 
 
 
QUESTION 11 
Which table characteristic is a good attribute for the exploitation of hash access? 
 

A. At least 20 rows fit on a data page. 

B. DB2 uses range scans to access rows in the table. 

C. The size of individual rows in the table vary greatly. 

D. DB2 uses sequential lookups to access data in the table. 

 
Answer: C 
 
 
QUESTION 12 
What subsystem parameter in DDF specifies the maximum number of inactive or new 
connections queued that can be waiting for a DBAT to process the request? 
 

A. IDTHTOIN 

B. MAXDBAT 

C. CONDBAT 

D. MAXCONQN 

 
Answer: D 
 
 
QUESTION 13 
From where does the cross-loader function allow you to load data? 
 

A. From an input file including all columns. 

B. From a cursor including LOB columns but not including XML columns. 

C. From a cursor including XML columns but not including LOB columns. 

D. From a cursor including all LOB and XML columns except the ROWID column. 

 
Answer: A 
 
 
QUESTION 14 
Which technique can be utilized for the reporting of real-time statistics? 
 

A. Call stored procedure SYSPROC.DSNACCOX. 

B. Call stored procedure SYSPRO 

C. ADMINJNFOJHOST.C. Query the SYSI BM.SYSTABSTATS system catalog table. 

D. Query the SYSIBM.SYSTABLES_PROFILES system catalog table. 

 
Answer: D 
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